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1. A sample of carbon dioxide is collected over water at a temperature of 35.0 (C when the barometric pressure reading is 742.0 mmHg.  What is the partial pressure of the dry gas?

2. A sample of nitrogen is collected in a 200 mL container over water at 25(C.  The pressure of the gas in the sample is 615.0 mmHg, what volume would the dry gas occupy at STP?

Part II – The Ideal Gas Law

3. Calculate the pressure, in atmospheres, exerted by each of the following:

a. 2.50 L of HF containing 1.35 mol at 320. K

b. 4.75 L of nitrogen dioxide containing 0.86 mol at 300. K

c. 750. mL of CO2 containing 2.15 mol at 57 (C.

4. Calculate the volume, in liters, occupies by each of the following:

a. 2.00 mol of hydrogen at 300. K and 1.25 atm

b. 0.425 mol of ammonium at 37 (C and 550. mmHg

c. 4.00 g of oxygen gas at 57 (C and 675 mmHg

5. Determine the number of moles of gas contained in each of the following:

a. 1.25 L at 250. K and 1.06 atm

b. 0.80 L at 27 (C and 0.926 atm

c. 750. mL at -50. (C and 700. mmHg

6. Find the mass of each of the following:

a. 5.60 L of oxygen at 1.75 atm and 250. K

b. 3.50 L of ammonia at 700. mmHg at 27 (C

c. 125 mL of sulfur dioxide at 625 mmHg and -53 (C

7. Find the molar mass of each gas measured at the specified conditions:

a. 0.650 g occupies 1.12 L at 280. K and 1.14 atm

b. 1.05 g occupies 2.35 L at 37 (C and 0.840 atm

c. 0.432 g occupies 750. mL at -23 (C and 785 mmHg
8. A sample of gas is at 25 (C and 620 mmHg.  If the gas occupies a volume of 20 L, how many moles of the gas are present?

9. 25 g of methane, a favorite gas of a certain bio teacher…, are at 30 (C and a pressure of 0.82 atm.  What volume does the gas occupy?

10. What would be the temperature of 5 moles of Ne trapped in a tube with a volume of 15 mL at a pressure of 760 mmHg?

11. It’s time to blow up some more hydrogen!!  If your fearless leader filled a 4 L balloon with hydrogen at 23°C and 620 mmHg, how many moles of gas will go boom?

12. One of the products of hydrogen combustion is water, which because of the heat will be quite hot.  If the ratio for hydrogen to water is 2:2 in the balanced equation, what will the volume of the water vapor be if the temperature is 250°C and 620 mmHg?

13. Joshua is having a great day and is laughing happily.  He breathes in for another good laugh, drawing in 500 mL of gas at a pressure of 0.8 atm and a temperature of 72°F.  What is the number of moles that he breathes in?

